
H* ESERCIZIO 6.1.3 HaL *L

Clear@a, b, xD;
a = 881, -2, 3<, 83, -3, 1<, 81, 1, 0<<;
b = 82, -1, 3<;
x = 8x1, x2, x3<;
MatrixForm@aD
sys = Dot@a, xD � b;
MatrixForm@Thread@sysDD
ab = 8Join@a@@1DD, 8b@@1DD<D, Join@a@@2DD, 8b@@2DD<D, Join@a@@3DD, 8b@@3DD<D<;
MatrixForm@abD
ab1 = 8ab@@1DD, 3*ab@@1DD - ab@@2DD, ab@@1DD - ab@@3DD<;
MatrixForm@ab1D
ab2 = 8ab1@@1DD, ab1@@2DD, ab1@@2DD - ab1@@3DD<;
MatrixForm@ab2D
x3sol = 8�5
x2sol = -H7 - 8*x3solL �3
x1sol = 2 - 3*x3sol + 2*x2sol

Solve@sys, xD

H* ESERCIZIO 6.1.3 HcL *L

Clear@a, b, xD;
a = 882., 0., 0., 0.<, 81., 1.5, 0., 0.<, 80., -3., 0.5, 0.<, 82., -2., 1., 1.<<;
b = 83., 4.5, -6.6, -8.<;
x = 8x1, x2, x3, x4<;
MatrixForm@aD
sys = Dot@a, xD � b;
MatrixForm@Thread@sysDD
ab = 8Join@a@@1DD, 8b@@1DD<D, Join@a@@2DD, 8b@@2DD<D,

Join@a@@3DD, 8b@@3DD<D, Join@a@@4DD, 8b@@4DD<D<;
MatrixForm@
abD
ab1 = 8ab@@1DD, ab@@2DD - 0.5*ab@@1DD, ab@@3DD, ab@@4DD - ab@@1DD<;
MatrixForm@ab1D
ab2 = 8ab1@@1DD, ab1@@2DD, ab1@@3DD + 2.*ab1@@2DD, ab1@@4DD + H2.�1.5L *ab1@@2DD<;
MatrixForm@ab2D
ab3 = 8ab2@@1DD, ab2@@2DD, ab2@@3DD, ab2@@4DD - 2.*ab2@@3DD<;
MatrixForm@ab3D
x4sol = -5.8
x3sol = -1.2
x2sol = 2.
x1sol = 1.5

Solve@sys, xD

H* ESERCIZIO 6.1.5 *L

Clear@a, b, xD;
a = 882, -6 Α<, 83 Α, -1<<;
b = 83, 3�2<;
x = 8x1, x2<;
MatrixForm@aD
sys = Dot@a, xD � b;
MatrixForm@Thread@sysDD
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ab = 8Join@a@@1DD, 8b@@1DD<D, Join@a@@2DD, 8b@@2DD<D<;
MatrixForm@abD
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ab1 = 8ab@@1DD, ab@@2DD - H3�2L * Α *ab@@1DD<;
MatrixForm@ab1D
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H* HaL *L eq1 = -1 + 9 Α
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sol1 = Solve@eq1, ΑD
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H* Proposta: ESERCIZIO 6.2.11,12,13 *L
H* Proposta: ESERCIZIO 6.2.16 *L
H* Proposta: ESERCIZIO 6.3.1 *L
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Clear@a, b, c, d, e, fD
a = 884, 2, 6<, 83, 0, 7<, 8-2, -1, -3<<;
b = 881, 2, 0<, 82, 1, -1<, 83, 1, 1<<;
c = 884, 0, 0<, 80, 0, 0<, 80, 0, 3<<;
d = 881, 1, -1, 1<, 81, 2, -4, -2<, 82, 1, 1, 5<, 82, 1, 1, 5<<;
e = 884, 0, 0, 0<, 86, 7, 0, 0<, 89, 11, 1, 0<, 85, 4, 1, 1<<;
f = 882, 0, 1, 2<, 81, 1, 0, 2<, 82, -1, 3, 1<, 83, -1, 4, 3<<;
MatrixForm@aD
MatrixForm@bD
MatrixForm@cD
MatrixForm@dD
MatrixForm@eD
MatrixForm@fD
n1 = 3; n2 = 4;
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n = n1;
t = c;
Do@r@iD = t@@iDD@@1DD �t@@1DD@@1DD, 8i, 2, n<D
t1 = 8t@@1DD, t@@2DD - t@@1DD r@2D, t@@3DD - t@@1DD *r@3D<;
MatrixForm@t1D
Do@r@iD = t1@@iDD@@2DD �t1@@2DD@@2DD, 8i, 3, n<D
t2 = 8t1@@1DD, t1@@2DD, t1@@3DD - t1@@2DD *r@3D<;
MatrixForm@t2D
n = n2;
t = f;
Do@r@iD = t@@iDD@@1DD �t@@1DD@@1DD, 8i, 2, n<D
t1 = 8t@@1DD, t@@2DD - t@@1DD r@2D, t@@3DD - t@@1DD *r@3D, t@@4DD - t@@1DD *r@4D<;
MatrixForm@t1D
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Do@r@iD = t1@@iDD@@2DD �t1@@2DD@@2DD, 8i, 3, n<D
t2 = 8t1@@1DD, t1@@2DD, t1@@3DD - t1@@2DD *r@3D, t1@@4DD - t1@@2DD *r@4D<;
MatrixForm@t2D
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Do@r@iD = t2@@iDD@@3DD �t2@@3DD@@3DD, 8i, 4, n<D
t3 = 8t2@@1DD, t2@@2DD, t2@@3DD, t2@@4DD - t2@@3DD *r@4D<;
MatrixForm@t3D
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H* ESERCIZIO 6.3.12 *L

H* Proposta: ESERCIZIO 6.3.14 *L
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